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& XE([p,g]l<x9 5 (REF) sum(p, )%, TOXBANDE
Fa[p]~a[q]PFEEERTS. CDEE, REFIORKEEZRD L.

TARTORMEIZDOWNTHIET AXEFZERDHIIEX KON,

7ILa1) X LP3-A0:

maxsum=0; ST E M
for(p=0; p<n; p++) SEIIL—TEML
for(q=p; q<n; g++){ O(n3)B5f&E]
/I XfEl[p,q] THOFIsumZz3K 5
sum=0;

for(i=p; I<=q; i++)
sum = sum + a[i];
If(sum > maxsum) maxsum = sum;

¥
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Problem P3(Largest Sum Interval) : Given n data in an array a[],
a sum interval sum(p,q) for an interval [p,q] Is defined as the sum of
elements a[p]~a[qg]. Find a largest sum interval for a given array.

It can be computed by computing the interval sum for every interval.

Algorithm P3-A0:

maxsum=0;

for(p=0; p<n; p++)

for(g=p; q<n; g++)}{
// find the interval sum in an interval [p,q]
sum=0;
for(i=p; I<=q; i++)
sum = sum + a[i];

If(sum > maxsum) maxsum = sum;

¥

Computation time:
triple-loop=>
O(n3) time
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Algorithm based on dynamic programming

The array is checked from left to right.
Let L[i] be the largest sum interval in the interval [0, iI-1] and

R[1] be the largest sum interval for interval with a[i] in its right end.
Then, we have

(L[] i L[i-1]=R]i-1],
L[] = { R[i-1] otherwise.

_ a[i] if R[i-1]+a[i]<a[i],
R[] = | R[i-1] + a[i] otherwise.

R[i]
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- L[i-1] L[i-1]ZR[i-1]DEE,
Lm‘{Rﬁﬂ TSt LE.

il R[i-1]+a[i]<a[i]) &=,
R[] = | R[i-1] + afi] Fhs e

E&ZIZL[N-1]ERN-1I]D KEWLVALFEKIE.

7 LT X LP3-A5:
L[0] = R[O] = a[Q];
for(i=1; i<n; 1++){

If( L[i1-1] >= R[i-1] ) L[i] = L[i-1]; else L[i] = R[i-1];

If( R[iI-1] + a[1] < a[i] ) R[1] = a[i]; else R[i] = R[i-1] + a[i];
¥
If( L[n-1] > R[n-1] ) return L[n-1]; else return R[n-1];

T E BRI (EO(n).
EXRHDEINZGTEIITESLMN? 7/52




(L[] i L[i-1]=RJi-1],
SUE { R[i-1] otherwise.

_ a[i] if R[i-1]+a[i]<a[i],
R[] = | R[i-1] + a[i] otherwise.

Finally, we take the larger of L[n-1] and R[n-1] as the maximum.

Algorithm P3-A5:
L[0] = R[0] = a[0];
for(i=1; i<n; 1++){

If( L[i-1] >= R[i-1] ) L[i] = L[i-1]; else L[i] = R[i-1];

If( R[1-1] + a[i] < a[i] ) R[1] = a[i]; else R[] = R[i-1] + a]i];
}
If( L[n-1] > R[n-1] ) return L[n-1]; else return R[n-1];

Computation time is O(n).
Is it possible to do without any auxiliary array? 8/52



L[I|DEILL[i-1]&ER[i-1]7Z1F TRES.
RIIJDEIER[i-1], a[i]fZIT TR ES.
&2 T, BEHZEFEIDBLZEITIELY.

7 LT X LP3-A6:
L =R =a[0];
for(iI=1; i<n; iI++){
If(L>=R)L=L;elseL =R;
If(R+afi] <a[i]) R=a]i]; else R =R + ai];
h

If( L > R) return L; else return R;
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L[i] is determined only by L[i-1] and R[i-1].
R[1] is determined only by R[i-1] and a[i].
Therefore, no auxiliary array is required.

Algorithm P3-AG6:
L =R =a[0];
for(iI=1; i<n; iI++){
If(L>=R)L=L;elseL =R;
If( R+ afi] <a[i]) R =a]i]; else R =R + a[i];
¥

If( L > R) return L; else return R;
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Problem P4: Suppose n data are stored in an array a[]. By ave[p,q]
we denote the average of elements in an interval [p,q]. Then, find

an interval maximizing the average.

0 12 3 4 56 7 8 9
al10/-9]-5[12]-3[10]-8]11]-8]-2
|
ave[3,7] = 22/5=4.4  ave[3,5]=19/3=6.33

If there Is no constraint in intervals, this problem is in fact quite easy.
If a[1] is the maximum in the array, then the interval maximizing the
average Is obviously [1,i].

Exercise: Question: Prove the above fact.

Then, what about if the length of an interval must be at least two?

In this case there is no simple algorithm.
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TARTHORMBIZONWTEBEEZKRD, TORKEZKRDH S

7ILI1) X LsP4-AO0:
maxave=(a[0]+a[1])/2;
for(p=0; p<n-1; p++)
for(g=p+1; q<n; g++){
sum = 0;
for(i=p; 1<=q; 1++)
sum = sum + a[i];
ave = sum/(g-p+1);
If(ave > maxave) maxave = ave;

¥

return maxave,

JOSLDEEMNSEIL—TTHLHI D, ON)EHEINMNS.
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(Brute-force algorithm)
computes average for every interval to find the largest value.

Algorithm P4-A0:
maxave=(a[0]+a[1])/2;
for(p=0; p<n-1; p++)
for(g=p+1; g<n; g++){
sum = 0;
for(i=p; I<=q; 1++)
sum = sum + a[i];
ave = sum/(g-p+1);
If(ave > maxave) maxave = ave;

¥

return maxave,

Triple-loop structure => O(n3) time.
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7 LT X LP3-Al:
maxsum=a|[0];
for(p=0; p<n-1; p++)X{
sum=0;
for(g=p; q<n; g++){
sum =sum + a[q];
If( sum > maxsum) maxsum = sum,;

}

return maxsum,

FEOT7INT)XLEXREFHRAICERTIEKON.
=1L, $BEEEOT7IILTYRXLERRTAZEIETELRL.
(A ANESH?)
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(Improvement 1)
Application of algorithm for largest sum interval leads efficiency.

Algorithm P3-Al:
maxsum=a[0];
for(p=0; p<n-1; p++){
sum=0;
for(g=p; g<n; g++){
sum = sum + a[q];
If( sum > maxsum) maxsum = sum;

}

return maxsum,;

It suffices to convert the above algorithm for average in intervals.
Note that we cannot apply the linear-time algorithm.
(What is different?)
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7 LT X LP4-Al:
maxave=(a[0]+a[1])/2;
for(p=0; p<n-1; p++){
sum=a[p],
for(g=p+1; g<n; g++){
sum = sum + a[q];
ave = sum/(g-p+1);
If( ave > maxave) maxave = ave,
¥
h

return maxave,

XHEEHDIFZEIZIE,

XHDESMN2LLET

A (A A Y A R Yl P
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SEF2EIL—TDEELGDT,

O(n?) B fH.
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maxave=(a[0]+a[1])/2; note that the length of
for(p=0; p<n-1; p++){ interval must be at least
sum=a[p]; 2.
for(g=p+1; gq<n; g++){
sum = sum + a[q];
ave = sum/(g-p+1);
If( ave > maxave) maxave = ave,

¥

Algorithm P4-Al: J For interval average,

¥

return maxave,

Computation time
double loop structure => O(n?) time.

Is there a linear algorithm like in the largest sum interval pro%lgzm?
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As in the largest sum interval problem P3, compute the sum
S[p] = a[0]+a[1]+...+a[p] for each p and plot it at (p, S[p]) In
the plane.

slope of line through the

, two points
{a. S/@i S[q]-S[p]
/ g-p

O S[p]
o ¢ ? ﬁ')/ 7 ? This is the average In
? the interval [p+1,q].

0 D g n-1

Thus, the problem is to find two points among n points so that their
associated line has a largest slope. Here, since the length of each

Interval must be at least 2, their x-coordinates must differ at least by 2.
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Fixing the left endpoint p,
which point (g, S[q]) should be selected to maximize the slope?

s We should find a tangent
(aS[ line to the smallest convex
_ polygon (upper convex hull)
o 7 |(P [ﬁ')/ of a set of point in the
@ o o e range q=p+2.
0
O
O
\ 4 \ 4

0 D g n-1
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Fixing the right endpoint p,
which point (p, S[p]) should be selected to maximize the slope?

line to the smallest convex
polygon (lower convex hull)
@ | of aset of point in the

@ range p=g-2.

{q, S[q]j We should find a tangent

24/52



fﬁé%,_%il:’ab\‘c, X [E][0,i-1]D 2D T EPHELCH(0,i-1) &
X fE[i+1,n-1]D A2 D LT EUCH(i+1,n-)Z3RKOTEHEE,
mEDHBEEERONIE KLY

|
Va

25/52



After all we should compute for each I the lower convex hull
LCH(0,1-1) for an interval [0,i-1] and the upper convex hull

UCH(i+1, n-1) for an interval [i+1, n-1] and then find their
common tangent.

I
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Compute the lower convex hull LCH(0,i-1) for an interval [0,1-1].
Update LCH(O,1) while increasing I.

[\

)
c%y/g ,z)/c o T
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Compute the lower convex hull LCH(0,i-1) for an interval [0,1-1].
Update LCH(O,1) while increasing I.

Maintain LCH(0,i-1) as a
directed tree. To insert a
point I, traverse the tree
from point i-1 to the root
and determine the edge

> | p
( )\Z/ / ? | when it becomes a tangent
O ,Z P Q to LCH(0, i-1).

0 n-1

\

Exercise : Show that the above computation is done in O(n) time.
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Compute the lower convex hull LCH(0,i-1) for an interval [0,1-1].

\

/
/
\
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Compute the upper convex hull UCH(i+1,n-1) for an interval [i+1,n-1].
Update UCH(i+1,n-1) while decreasing I.

\
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)ﬁi-l&)ﬁi+1’£f'ftﬁz§i
RO DBIRDO T,

D = IELCH(0,i-1)

A D A IXUCH(i+1,n-1)
D% MUY, H@EER
ZRDB.

n-1
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Find an interval maximizing the average for each 1.
Find a largest-slope line connecting points in [0,i-1] and [i+1,n-1].

[ b

Starting from the line
connecting point i-1 and
point i+1, trace LCH(O,i-1)
for the left points and
UCH(i+1,n-1) for the

right points.

n-1
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BRI FHREIEIRDAEY

do{

¥

¥

¥

while((p,q,UCH(i+1,n-1)IZ& 1T 5qD ) M R B 5t [E
g=UCH(i+1,n-1)IZ& [+ 5HqD#; change=true;

p=I-1; q=1+1;

change=false;

while((LCH(O0,i-1)IZ& 1+ 5pD#R p,q,) A EFETEIY) {
p=LCH(0,i-1)IZ& T HpdD#i; change=true;

){

LEEOFHEZIIONBFEITTES.

iy =

#2Y R EEARTIEOMN)IZE->TLERD.

BRI ETESLMN?
BB, AYIZOM)EBA MDD I ?
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The concrete procedure is as follows:

p=I-1; q=1+1;
do{
change=false; ccw: counter-clockwise
while((p,q,parent of g in UCH(i+1,n-1)) is ccw) {
g=parent of g in UCH(i+1,n-1); change=true;
h
while((parent of p in LCH(0,i-1),p,q,) is cw){
p=parent of p in LCH(0,i1-1); change=true;

¥

¥

The above procedure is done in O(n) time.

If we iterate it n times, the overall time becomes O(n?).

Can we improve it into linear time?

Or, does it really take O(n?) time? 38/52
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Find an interval maximizing the average for each i.
Find a largest-slope line connecting points in [0,i-1] and [i+1,n-1].

A

Starting from the line
connecting point i-1 and
point i+1, trace LCH(O,i-1)
for the left points and
UCH(i+1,n-1) for the

g C right points.

N
V\\

N\
A\

N\
A =4

)
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Find an interval maximizing the average for each i.
Find a largest-slope line connecting points in [0,i-1] and [i+1,n-1].

A

Starting from the line
connecting point i-1 and
point i+1, trace LCH(O,i-1)
for the left points and
g/‘r UCH(i+1,n-1) for the

g C right points.

\
N\
A\

)
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Find an interval maximizing the average for each i.
Find a largest-slope line connecting points in [0,i-1] and [i+1,n-1].

A

Starting from the line
connecting point i-1 and
point i+1, trace LCH(O,i-1)
for the left points and
UCH(i+1,n-1) for the

right points.

\
A\
RV
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Find an interval maximizing the average for each i.
Find a largest-slope line connecting points in [0,i-1] and [i+1,n-1].

Starting from the line
connecting point i-1 and
point i+1, trace LCH(O,i-1)
for the left points and
UCH(i+1,n-1) for the

C right points.

A\

\VA!
A

1=4
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The same edge can be traversed more than once in this algorithm
and thus it cannot guarantee linear computation time.
Is there any example requiring O(n?) time?

Guarantee of linear time No edge of UCH() is
! traversed three times.
q ™
° o | IP /ééigi/KEdge traversed
/| D\ in the search i
and 1+2. .,
0 I n-1 ]

The two points i-1 and i1+1 must lie above the line pg. But, then the
edge is never traversed in the search at i, a contradiction (\Why/2k2



Bl4RIZ, k=2[2x LT, Ri-1hbDIERERI+KDNSDIEERT
UCHDRILAMN WS B EIELELY.

TR RFIDLDERERAINLDIER TUCHD EILIAA WS
nNeaZElETHs.

B, UCHDEDBHIEL Elsn b Z EIFR LN ENEERA
Shf-. LCHIZDWWTERIFTHA.
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Similarly, for k=2, the same edge in UCH is never traversed in

the search from point i-1 and from i+Kk.

Remark: It happens that the same edge in UCH is traversed in
the search from point i-1 and point .

At last, it has been proven that no edge in UCH is traversed
three times. Same for LCH.
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REMIZT LT X LIFRDESIZGS.

7L X LP4-A2:
&#IZ, S[i]=a[0]+a[1]+...+a[i]ZR D B(i=0, 1, ..., n-1)
RIZEEA(, 9[i]), i=0, ..., n-1Z%E K.
LCH(0, i-1)&UCH(i+1, n-1)ZIBIZ#& L.
maxslope=(a[0]+a[1])/2;
for(i=1; i<n-1; iI++){
Ri-1ERIHIZTHRESRA D LIROH T,
ZDRIEXLCH(0,i-1), HD = IXUCH(i+1,n-1) M4 % ulit),
FaBE#R(p, S[p])-(a, S[a)ZER&H 5.
if( B D EZ>maxslope) maxslope=1t EHEFREDIES

}
maxslope? H 73;

EEERE: COT7ILO) A LEZEEST L 51/52




Finally we have the following algorithm.

Algorithm P4-A2:
First, we compute S[i]=a[0]+a[1]+...+a[i] (I=0, 1, ..., n-1).
Then, construct a set of points (i, S[i]), 1=0, ..., n-1.
Construct LCH(O, iI-1) and UCH(i+1, n-1) in order.
maxslope=(a[0]+a[1])/2;
for(i=1; i<n-1; iI++){
Starting from the line connecting point i-1 and point i+1,
traverse edges in LCH(0,i-1) for the left point and in UCH(i+1,n-1)
for the right point to find the common tangent (p, S[p])-(qd, S[q]).
If( slope of tangent line>maxslope) maxslope=slope of tangent line;

}

output maxslope;

Exercise: Implement this algorithm.
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